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5.1 LCM- Least Common Multiple

p. 228 1-11-18
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‘EXample 1, the LCM of 8 and 12 is 24.
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This is another methed used to find the LCM of 2 or 3 number:

To find the LCM of 2 number:
Example
Find the LCM of B 12 of? a a 3
step1: |8 | 12 LCM Q 4_
Find a number that has a commo, isor (goes into both
step2:(2fs | 12

L2 e

\ 2 3 )
Step 3: Draw a "bubble L" around the outside numbers.
Since there is no number that divides into 2 and 3 evenly, e opf
Find the LCM of 8 and 12 by multiplying all the numbers insi{e the bubb

Step 4: 2x2x2x3:=24 LCM =24
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2 and 3
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6 and 20
L |20

2:3-10=(d

4 and 10
4110

A2-5=20
LCM=a0
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To find the LCM of 3 numbers:
3,4,and 9
Find the LCMfGT 4, 6 and 20. , ,

First find the LCM of 4 and 6. Rla] e

{

2 W24 43=

LCMof 4and 6is2x 2 x 3 :
Nowfmd?heLM

2\ 12| 20
e
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nee there is no number that divides inte 3 and 5, we are finished.

5
Find the LCM of 4, 6 and 20 by multiplying all the numbers inside the 2nd
b
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15, 6, and 4 2[;%

2 AN
cl4 13 s
Go LM=4o

Dec 11-1:42 PM Dec 11-1:42 PM

2,6,8,12
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